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Wounding his friend;  — % 7wy’ 39 7w WK 2505 5757 19%ana B2
since it is written, ‘as he did so shall be done to him’

Overview

The X mx explained the reason jam " (who generally maintains 0%wn 1R 7712)
agrees that by 17212 211 (and 1"v) the rule is 7?2 11°RY 22Wwn, is because the 770
explicitly stated regarding 9211 that he should pay. This is derived from the >0
of 921m.> Once the 7™M wrote 2 7wy 19 7wy WK, why did it also state 12 302 19; in
order to teach us that he pays with a 7% 7n 1n°17 927, which is 7. Previously’
moon asked maybe he pays 71n only in a case of 1907 X? but by 1707 the rule
would be 0%wn 181 P15, NMDOIN repeats and answers that question here.

- 555 119 92 1139 19 19 ONY 5PWIaTa 993 197 XINM INNINT PN YPYUNRT
For " 7wy 7wXd indicates a monetary payment as we have proven from 72 79

being superfluous as I have explained, so why indeed do we require 12 302 32 -
= NPO) 92 79197 N2 19NN NDT XIND NOINT 919910 NI N

But we cannot say that 12 1n2° 12 is coming to teach us a 777 21’11, (only) when he

was not warned, for that is derived from 792 7° -
= 1192 Y9INT NI NIN TII0KIN XD TH99 DY NON

Rather perforce we must say that 12 102" 15 is necessary only for a case where he

was warned and nevertheless the rule is 7% 1°X1 22Wn.
mooIN anticipates a difficulty:

- 91290 “AWUY YN TIIVYIN INNN Y NOUP XY NN 17919
However, the following does not present a difficulty; why is 131 72y SwK>, necessary —

mooin replies this is not difficult:

' See the 1271 N that this MdOIN is a continuation of the previous *79% 77 Moo, [In our text the X»3 reads, 21
2707 91 17°ana.]
% The 0’9109 in 3-v°,75 (MMX) X read; 307 R M Y NOR Y .0 L ApY? 32 AR WRD inny2 0w 197 v UK L
121037 12 2782 2
? 9701 71"72 [TIE footnote # 10 & 12].
* See footnote # 3 [TIE (there) footnote # 16]. The p109 of 7°2 7 is written by 1"v. However, this applies to 217 as
well, for if by 2211 it would be wnn 7 (or wnn W), the punishment for the 1"y would also have to be wnn 7° (on
account of the ont 2w 12 an w). The fact that the punishment of 1"y is 17n (as derived from 7°2 7°), indicates that
the punishment of 92117 is also wn. The additional 12 103 12 adds that the 2211 pays 171 (but no mpon) even if 12 17n7.
> It must be to teach us that 7 1KY DPwn.
% Seemingly there is no reason why the M writes 31 7wy WX, See previous 71 71"7 "0 [TIE footnote # 10] that
we do not derive 1an from wys 39.
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- 9919 7Y NNIY DY 93 '19590K 19 798 DIVY XD NIwaT
For it was repeated here for some purpose as the Xynw° '3 °27 Rin teach, ‘every
7wap which was written and repeated, etc. was repeated for a certain novelty’ -
- SoonY0 SHY MY 9tN N1Y 13 I’ 19 Yax
However, the difficulty is why was 12 yn21° 35 repeated twice -
= 1192 Y9N XI*ND 1D 1919 1NN 937 1Y 91919 NON
Rather it was repeated to teach you that it is something which is given from
hand to hand (money), but not mpY», even in a case where he was warned -
$59 1179 12 103 19 193 49 2505 37191 1Y S8 NINT 11N XY
And it is equally justified that the X713 could have said, ‘since 752 7% is written
why do we need 13 3n2° 32 (instead of saying, Awy> 2WX3 791, so why do we need 12102 12).

Summation of the last two moown: The 7N writes by 1"V two 2°109; first onr WwRd 17 anw, and
second 72 7> (which is seemingly superfluous). We derive from the extra 72 7> that it means 717, but
not wnn 7 (for if it meant w»» 7° there is no need to write it since we would know it from 2727 IWRD).
The fact that by 1"y they pay money but not w»n 7> teaches us also that a 92117 only pays money, but
not wan 7.1° However, we can argue that this rule of 177 is only if there was no X707, but if there
was a nXInn they would receive mpon; both the %21 and the 1"v. Therefore, the 77N wrote an
additional (seemingly) superfluous 109 (by 2217) that 12 102 33 to teach us that the wan 21n is even if
[=Rnish

Summary
We know that 12 103’ 15 teaches that a 7217 is 7212 12°R) 272wn even if 121707, for in a

case of 1217077 X% we know he pays money from 7°2 7> (by 1'"V).

Thinking it over

moon writes that the X3 did not ask why is 12 nwy> 2 written (since it is
[seemingly] superfluous), because we can say that it was written 7% w9, etc.''
Why therefore does npoin ask, 711 712 10 19, etc.,12 when we can give the same

7 See x,3 700.
¥ Mmoo, when saying 27yo "nw, may mean 7°2 7 (which teach 11 as well) and 102> 12. Or perhaps N1®01N means 13
7wy and 101 12. See ‘Thinking it over’.
? We derive from 11 12 that we are referring to 1m» even if 12 1907, for by 12 1071 &2, we already know from 72 7
that it means 1»». What makes 102 15 superfluous is 7°2 7 (but not [so much] 12 7wy> 19). Nevertheless, the X3
chose to ask 19117 awy 15 >7o1 since it is written immediately preceding 12 102 15 and we know from 1"v that 7wy 15
17 means money, therefore the X713 chose 17 7wy 2.
10 See footnote # 4.
' See footnote # 7.
12 See footnote # 8.

2

TosfosInEnglish.com



5237 7" '0I10 2,25 M2IN .7"'02

answer (that it was written 7% ww9)?!"

B See p"xwn w"1 'oIn.
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